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Questions 1 to 10 carry 1 mark each.

Questions 11 to 15 carry 2 marks each. .

For each question, four options are given One of them is the correct answer.
‘Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3, 4) on the
Optical Answer Sheet (OAS). - {20 marks]

1)  Which one of the following numbers has the digit 5 |n thé hundred thousands

2)  Round off 708 702 to the rigarest thousand.
(1) 710 000 (2) 709 000
(3) 708 000 (4) 700 000
3) 802 x 900 = tens
(1) 729 800 (2) 721 80O
(3) 72 980 (4) 72 180
4) 6734000 +700=
(1) 962000 (2) 96 200 .
(3) 9620 {4) 962 -

place?
(1) 2 954 287

(3) 2 509 827

(2) 2 805 427

(4) 2 049 527



5). The figure below is:pgfdrawin:to'séale: Given that the height of Triangle EGFis.
G what istHie: base‘?

(1) GF (2) FJ

(3) EF (4) EH

6) Shona gave %.of her apple juice.to her brother. Then she pctiréd -:; of the

remaining juice.into a glass: What fraction of her apple juice was poured into

the glass?

) 5 7

(1) 3 (2) I
I i

(3) 3 (4) 24

7) In 6:18 = A : B, what are the values represented by A and 87

(1) 3:1 (2)1:3

(3) 4:20 (4) 8:16

8) Find the product of 4% and 9.
(1) 42 (2) 36

(3) 33 (4) 14



g9) Jenlyncuta 1%- m long ribbon into 3 shorter strips of the same length. What is

the length of each strip of ribbon?

27 10

1 3
(3) 3 m 4) Em

10) Yi Bing has 28 marbles. 16 of the marbles are red and the rest of them are
blue. Find the ratio of the number of blue marbles to the total number of

marbles.
(13:7 '. (2)4:7
(3)3:4 (H4:3

11} Chef Keong bought g-e of oif. He used %f to fry some vegetables. How many

litres of oil did he have left?

10
1) —¢ 2
(1) > (2)

1 5
3) 513 4 57¢

12) Jolene had $420. She spent % of it on a bag and %of the remainder on some

food. How much money did she have left?

(1) $252  (2) $201.60

(3) $168 (4) $134.40




_ 13) Abox-;;gg;atia‘ii?\éd{szrblué balls and 24 green balls. Mrs Lim gave--_;_,-_;-. of the blue

14}

15)

balls aﬂd_%‘-ﬂ_qf.}the-gr_egan_.ba"s to her pupils. What is the:ratie of the number of

- blue balls-to-thig number-of green balls left?

(1)8:5 (2 9:10°

(3)8:9 (4)1:2

Steve had 24::packets of flour, each-of mass 4 kg. He divided ali the flour

-equally into 8 containérs. What was the mass of the flour in each container?

i 1
1) 10— 2) 10—k
&) 2k9 (2) TR

| I
3) 1—k 4) 1—k
(3) kg ()219

’ 1 . .
The height of a triangle is 124 cm. The base of the triangie is 7 of its height.

Find the area of the triangle.

(1) 3844 cm? (2) 1922 cm®
(3) 93 cm? (4) 31om®
End of Booklet A
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Questions 16 to 25 carry 1 mark each. Write down your answers in the
spaces provided. For questions which require units, give your answers in the
units stated. [10 marks]

16)  What is the value of 9 + (500 + 40) + 2 x 3007

Ans

17)  The figure below is not.drawn to scale. What is the area of the shaded
triangle?

Ans: cm?

Do not
write in
this space.

14



18) _ Sally bought-2:packets-ef sugar and 3:packets-of salt. Thesmass:of each:
+pacKet of Sugar and salt is 1%kg and%kg respectively, What was the

.otal.mass of the sugar and  salt

Ans: kg |

19) " Inaclass, -Z— -of the pupils are able to swim:Among those who are able

to swim -; of them are girls. What fraction of the class are boys who are

able to swim? (Leave your answer in the simplest form.)

Ans :

20)  Express 11% as a decimal correct to 2 decimal placés.

Ans

Do not
write in
this space.




21) The figure below, not drawn to scale, shows a square WXYZ. What is the | Do not

area of the Triangle EZF? wiite in
. . this space.

<
-4
A

5m

Ans : m?

22)  Julianna packed 137 kg of strawbeities equally into 8 baskets. What is the
mass of the strawberries in each basket? Express your answer as a mixed

number.

Ans : kg’




23) Baker Aloysious had -59~ of a cake. He shared the cake -equally with 4

ciistofniers. What fraction of the cake did each-customer get?

Ans

24) _T_he ratio of Willis' mass to Leroy’s massis 6 : 11. If Willis’ mass is 66 kg,

what is their total mass?

Ans

kg

25)  Josephine had $120. She spent $38 and saved the rest of the money.

What is the ratio of the amount of money she spent to the amount of

money she saved? Express your answer in the simplest form.

Ans :

Do not
write in
this space.




Questions 26 to 30 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. [10 marks]

26)  Megan bought a durian and a bag of mangosteens at a fruit stall. The bag

of mangosteens is Sékg lighter than the durian. If the mass of the bag of

mangosteens is 3% kg, what is the total mass of the fruits?

Ans : ke

. 2
27)  Ceelo had some paint. He used % of it for his living room and 3 of the

remaining paint for the toilet. What fraction of the paint did he have left?

Ans :

Do not
write in
this space.




28)  Quinny spent 4‘—15- h ironing her clothes. Heidi-spent 1 %h less than Quinny

on the same household chore. How much time did they spend on ironing |

altogether?

Ans: h

29) Amanda baked chocolate, vanilla and strawberry muffins. % of them

were chocolate muffins and % of the rest were vanilla muffins. If she had

baked 54 vanilia muffins, how many strawberry muffins did she bake?

Ans

Do not
write in
this space.




30)

The perimeter of a rectangle is 72 cm. [f the ratio of its length to its breadth
is 3: 1, find the area of the rectangle.

‘Ans : cm?

End of Paper 1

Do not
write in
this space.
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write | Donot
your answers in the spaces provided. For questions which require units, write in
give your answers in the units stated. [10 marks] | 'h'sspace.

1) 248 tourists visited a carnival. The entrance fees were priced at $16 for
each adult and $9 for each chiid. % of the tourists were adults. How

“much did they pay altogether?

Ans:$

2) Joan had $1382 and her brother had $428. After their father gave each
of them an equal amount of money, Joan had twice as much money ag
her brother. How much did their father give each of them?

Ans : $




3) . Adif had shirts of three different colours. %of his shirts were green and Do not
: _ . : = . write in
-2— of the remainder were yellow. The rest of his shirts were blue. What this space.

fraction of his shirts were blue?

Arls ©

4) 1 kg of prawns cost $10.40 and 1 kg of fish cost $8.60. How much did
Gin Li pay for S%l(g of prawns and 6%kg of fish altogether?

Ans:$

5) Some orange cordial and watér-are mixed in the ratio 6 : 19. The
volume of water in the mixture is 4 864 m£. What is the total volume of

the mixture?

Ans - ' m¢




For questions 6 to 18, show your working clearly and write your

: . . N Do not
answers in the spaces provided. The number of marks available is w?gtgﬁn
shown in the brackets ( ) at the end of each question or part-question. this space.

[50 marks]

6) A snail was at the-bbitoni:of.a 10-m deep.well In the fitst:45 minutes; it -

climbed: :-%m.,?in the néxt 10 minytes; ;t_g_ql_imbea:_-z% i, How far was'

s il From I 10RiaE the Wl aREr 25 hinies?

Ans: (3m)

7) Corice’s family consumes 18—3— kg of rice every month: The cost of 1 kg

of rice is $3.2C Find the cost of the rice her family consumes in 2 years;

Round off your answer to the nearest hundred dollars.

Ans: {3m)

5



8) The f gure be!ow is made up of 5° squares each of side 16 cmIFind the Do not
& : ¢ write in
this space.

16 cm|i §

Ans: (3 m)

9) The ratio of the height of a triangle to the base of the triangle is 7 : 9l
the height of the triangle is 63 cm, guhat is the area of the friangle?

Ans: RS2 11) T I




) P Do not

10)  Last week, Lohan St d fotal of 8:hours exercising. He:spEREbFIhE: | wite in
AN S 3 _this space.

Aime cycling. How many gninutes did he spend@ycﬁng?

Ans: (3m)

11)  Tilak bought a plot of land with an area of -g— kmZ He sold % km? of the

land?and divided the- remammg fand equally into 11 small plots, What
was the: fota!'area of 7°such smalf’ plots of land?’

Ans: (3 m)

"



12) A recfangle oflength320m and:breadth 43.¢mfwas cut out from a Do not
write in
this space.

triangular piece of paper as shown in the figure below. Find thé:areas

of the remaining piece. of paper.that is showni below

Ans: (4 m)




13)

The figure below shows 2 small squares; with a perimeter of 24 m-
each, being joined to a big square. The ratio of the perimeter of one’

small square to the perimeter of the big square is 3 5, Find the area:

of the figure.

Small
square

Small
square

Ans: {4 m)

Do not
write in

1 this space.




14)

Olivia bought 15% kg of sweets and 29% kg of chocolates: She mixed

them up and packed them equally into 31 packets, each with-a. mass of;.
1.41 kg. Each packet was saold at $7.2Q;and the remaining sweets and':

chocolates were sold at $9 per kg, How much did she collect.from all the

sweets and chocolate sold?

Ans:

Do not
write in
this space.




15)

Calise spent $1485 on 9 identical handbags.and 3 identical pairs of
shoes. Sherlynn spent $867 less than Calise on 2 such handbags and
6 such pairs of shoes’ What was the total cost of 3 such handbags
and 2 such pairs of shoes?

Ans: {5 m)

10

Do not
write in
this space.

21




Do not _
write in
this space.

Ans: - (5m)

11




17)

a) What fracfior

Farmer Poh bought a plot of land. He p{antedcal'l'OtSQ"%ﬁﬁhma"d

i) Ofthe land;He pl ;

emaining. plot of land?

:of the land was |
fat ot

ntlng:;’ )

LT s

; what was the & a0fd

‘Ans:  (a) (3m)

Do not
write in
this space.

12
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18)

3;5'39“’"9 some of theif: cards af the same price, J*"""' B

Joseph:and 'Réil[y had: the-same number of picture. cards:at firstd After

oEBPHhAYZH2 cards lefts
The ratio of the number of Jo§eph's eards left:fo. the: drnber. of. Rellly' $3
cards:left was..2 *'5.-Raiily ‘collected’ $1179 165, than “Joseph] for the
cards sold. If Joseph coilected $2829 in ali'for @l the ‘cards soldi how
many cards did gach boy:-have at first?

Ans: {5 m}

End of Paper 2

13

Do not
write in
this space.
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Answer Sheets
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- 16)81009
17y x 126 x 84 =~ 5292
18Y2710+ 110 + 1f10 =3f10
Lspa x X = 2eyB
2gte -+ 3f10 = Joora0 + 24180
= 341&@ = aifznkg
mymjm 5;9
: 2&}1.1516 s .11.33
.zi}gm,?; 6
b B
Vax4x G - 1.2m2
;2}13?%8m 17 2rsky
23)5/9 + 5= 1/9

- 2ee+6=11
11x{6+11} =187kg .
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25510~ 38 = 82
38:82
19 41

26)3213kg + 5z/oky = Bsjoky + Sz/okg = Sarvkyg {durian)
Barokg + 3z¢3kg = Berokg + 35
= $1izarokg = 125r5%g

The total mass of the frults is 12s/9kg.

27} 5/ & living room
!
\ifﬁ ;;:z; 3x1J6 = 2/18 (wilet)

_ 1/3 x 1/6 = 1/18 (left
He had 1/18 of the paint left,

Tatal

2B)44/6 + 41/6 = Bafs = 8173

Bafz —lare = 7at2a — 9124

2 632724 — B 24 = 6237240 ‘
They spent 625/24h on Ironing altogether,

2054 +6 =19
9x4 =36
She baked 36 strawberry mutfins,

30)iz+8 =9

Dx3 =22

27 X9 = 243cm: ‘
The.aren of the rectangle is 243¢mz

PITEREY
248 62 = 186
62X 16 =992
186X 9= 1674
992 + 1674 = $2666
‘They paid $2666 altogather,

2)$1382 — $428 = $054 _
(3954 x2) - 31382 = $526
Their father gave gach o}them $528.

Page 2




36 x7 =42
4742 = 2/21
2/21 of his shirts were blue.

4)10.44 = 2.6
8.6+5 = 1.72
2.6x3=7.8
10.4 X 8 = 83.2
7.8 + 83.2 =91
1.72 (6 x 86) = 53.32
53.32 + 91 = $144.32
Gin Li paid $144.32

5)19u->4864ml -
1u>4846ml+19 = 256ml
6u + 19u = 25u
25u—>256ml x 25 = 6400mi

The total volume is 6400ml.

6)10m ~ (3279m + 25/6m) = 317/18m

The snail was 317/:18m from the top of the welil.

7)182/7 x 3.2 = 5818/35
5818/35 X 24 = 140412/35 =~ 1400
The cost of the rice is $1400

8)/2x (16 x4)x 16
=% x64x16 =512cm:
The area is 512cnm:2

9)63+7=9

9x9 =281

2x 63 x 81 = 2551.5cm:2
The area is 2551.5cma2

10)8+-3 = 223
8-12=2/3
2/3 x5 =313
8—31/3—22/3=2
2h = 120min
He spent 120 minutes cycling.

Page 3
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11)8/9—-2/5=22/45
22/45+11 = 2/45

- 2/45x 7 = 14/45km:2

The total area is 14/45km:2

12)19 + 13 =32
32+ 15+ 15 =62
Y2x32x62 =992
992 — (13 x 32) = 576cma2
The area is 576cm:2

13)24<3 =8
8X5=40
.10 X 10 =100
6X6 =236
36 + 100 =136
136 + 36 = 172m2
The area is 172m2

14)153/5 + 29V = 441720
- 1.41x 31 =43.71
4417120—43.71 = 1.14
7.2x31=22315=223.2
9:+-100 = 0.09
0.09x 14 = 1.26
1.26 + 9 = 10. 26
10.26 + 223.2 = $233.46
She collected $223.46 -

15)9H + 3S = $1485
$1485 — $867 = $618

- 2H + 6S = $618
7H — 3S = $867

$1485 + $867 = $2352

$2352-:-$867 = $2352

$2352-+16 = $147 (1 Handbag)

$618 — ($147 x 2) = $324

$324--6 = $54 (1 shoe)

(147 x 3) + ($54 x 2) = $549
The total cost is $549

Page 4




16)30602ml — 1235ml = 29367ml
29367ml--13 = 2259ml
(2259 x 7) + 1235ml—2896ml = 14152ml
Tank B contained 14152ml.

17)a)1—-3/8-1/3=7/24
7/24x4/7=1/6
7/24~1/6=1/8

1/8 of the land was not used for planting.

b)1/8 = 3/24>195.75m:2
1/24->195.75mz2+3 = 65.25ma2..
8/24->65.25m2x 8 = 522m2

The area was 522ma:

18)262+-2 =131
131 x 3 =393
1179393 =3
28293 =943
943 = 262 = 1205
Each boy had 1205 cards at first.

Page 5
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